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Ponavljanje

1. Reši enačbe in naredi preizkus. Ne pozabi na pomožne račune.

125 : x = 25                        
x ·25 = 600                          
x  ·  36  = 468
3927  :  3  =  x
x  ·  35  = 1820


2. Reši nalogo v U, str. 90, nal. 1. b, c.








REŠITVE 1. naloge:
	125 : x = 25              x = 5              

	x ·25 = 600              x = 24                                 

	x  ·  36  = 468          x = 13              

	3927  :  3  =  x         x = 1309            

	x  ·  35  = 1820         x = 52             



